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1) ROFEIFEXAZMBETHRELGS, (ARX58)

1 { x+y=3
x—y=—1

2) { 2x+y=9
x—3y=1

3) {4x+y=—11
X—2y=—5

4 { 2x+3y=10
3x—2y=2

5) { x—4y=9
3x+2y=13
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2) ROEIFBRXEMBETHREESL, (4R X58)

1 { x+y=1
X—2y=—8

2) { 7x—4y=3
—X+5y=4
3) { —2x+3y=—21
4x—y=27
4 { 3x+4y=14
X—2y=—12

5) { 5x+6y=23
—3x+y=0
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3) ROFEILFEAEZRAETRELGSL,. (4R X58)

D { Bx—y=16
y=X

2) { 4x+2y=14
2y=x—1

3) { y=2x—12
7x—3y=44

4 { 3y=x+14
3y=—2x+26

5) { 4x—3y=—32
3y=—x+7
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4) ROEIFBRAERAZTHRERSL, (4R X58)

1 { Xx—y=4
=2X—6
2) { x=y—3
x+5y=3
3) { 6x—2y=32
2y=x—2
4 { 3x—4y=1
2y=x+1

5) { 2x=3y+23
2x=—y+11
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5) ROFIAFEXZMEGSL,. (4R X58)

1 { 2x+3y=2
4x—9y=—1

2) { x+y—(3x—4y)=1
2(2x+y)—(x+5y)=3
3) { x:2y=1:1
3(x+y)—2(x—y)=14
4 { 1.2x+1.4y=0.6
0. 8x—0. 7y=0. 4

5) 2x+y=3x+y—1=8
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1) AE—MRE (45 X58&)
1) x=1,y=2 2) x=4, y=1
4) x=2,y=2 5) x=5, y=-—1

2) KE—RE (AR X58)
1) x=—2,y=3 2) x=1, y=1
4) x=—-2,y=5 5) x=1, y=3

3) KEE—@RE (4= X58)
1) x=4,y=4 2) x=3, y=1
4) x=4, y=6 5) x=-5,y=4

4) KEE—#RE (4R X58)
1) x=2,y=—2 2) x=—-2,y=1
4) x=3,y=2 5) x=7,y=-3

5) &E—ME (4R X58)

_1 =1 =2, y=
1) x=3y=7  2) x=2,y=1

4) x=%,y=0 5) x=1, y=6

A =]
3) x=-3, y=1
A =]
3) x=6, y=-3
A =]
3) x=8, y=4
A =]
3) x=6, y=2
A =]
3) x=4,y=2



